1. Erginze immer auf 1000.

Q) 658+
b) 12 +
c) 804 +
d) 691 .

2. Berechne die Aufgaben im

a) 55% + 130
b) 204 + 740
c)  #+ 80
d) 339 + 220
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3. Berechne die Aufgaben mit der
Denke an den Ubertrag.
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Rechnen bis 1000

Kopf.

e) 930 - 350

f) 70 + 640

g) 540 - 280

h) 47 + 700

schriftlichen Addition.
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1. Erginze immer auf 1000.

a) 658 + _ 342 = 1000
b) 12 + 858 = 1000
c) 80k + 19 = 1000
d) ¢91+ 309 = 1000

2. Berechne die Aufgaben im Kopf.

a) 554 + 130 = _ 68k
b) 204 + 740 = _ Ok
c)  #+80-=_88
d) 339+ 20- 55

3. Berechne die Aufgaben mit der
Denke an den Ubertrag.
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Rechnen bis 1000

e) 930 - 350 = _ 580
f) 70+ 640 = 70
g) 540 - 280 = _ 260
h) w7+ 700 = _gu7

schriftlichen Addition.
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